Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min)

=

To start an ordered list from 20 instead of 1, the correct option will be

=

Answer | Please select your correct option )

<CL begin ="20"=
I

<CL mittate = "20"=

<L start ="20"=

° v

=0L from ="20"=

https://genrica.com

https://youtube.com/c/VirtualUniversityPakistan




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min)

=

WVideo card has its own atd processor.

=

Answer | Please select your correct option )

Hetworls Card
P

Wlemoty
2 \/

menal Port

Power Supply
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Cluestion No : 3 of 26 Marks: 1 (Budgeted Time 1 Min) =

=

Battery on the mothetboard of a computer 1z used to

Answer | Please select your correct option )

Give power to the processor
P

mave time and BIOS information, when computer 15 off \/

Turn on the CPTT hights

Increase the processor speed
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Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Cotnmand which saves the selected text before deleting 15

=

Answer | Please select your correct option )

I

e \/

Dielete

Cut

TTndo
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Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min)

=

If a user 15 vaing G script on a UMK server, then the script type 15 called

=

Answer | Please select your correct option )

Client side scripting
P

merver side scripting

“ v

stand-alone scripting

(31T scripting
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Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Punched Cards were mvented first tine for the purpose of

=

Answer | Please select your correct option )

Calculation
2 \/

Entering Patterns i Tesxtile Looms

=toring Data

Playing Cards
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Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Fwe use <INPUT type="password > in HIML, what will happen? =
Answer | Please select your correct option )
Text will not be wsible
I
Text will be i normal format
rl

Text will be m **** format

° v

Text will be m #HH6E format
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Question No : & of 26

Marks: 1 (Budgeted Time 1 Min)

=

WWhen we run a progratn in a computer, the actual execution of the program takes place

=

Answer (| Please select your correct option )

I

S

ROM

Wlicroprocessor

Hard Thisle
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Cluestion No : 9 of 26 Marks: 1 (Budgeted Time 1 Min) =

=

1z the essential property of every JavaSchpt object.

Answer | Please select your correct option )

Color
P

Width

Hame
) \/

SIFE
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Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min)

=

A program designed to activate an alarmn after every two hours 13 the example of

=

Answer | Please select your correct option )

Batch Program
P

Event Driven Programm

Time Program

Eeal Time Program
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Question No : 11 of 26

Marks: 1 (Budgeted Time 2 Min)

=

The comtnunication line between the CPT, metmory and peripherals 1z called as

=

Answer | Please select your correct option )

S 4

BUS

FPU

ATTT
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Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min)

=

What will happen 1f T start a new list without closing the original one?

=

Answer | Please select your correct option )

An error will he generated
o

A nested het will be created

: v

Prewious bst will end and a new will start,

Mothing will happen
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Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min)

=

=elect the wariable name which iz invalid n JavaScript:

=

Answer | Please select your correct option )

I

while

s

_Euim

cs 101

https://genrica.com

https://youtube.com/c/VirtualUniversityPakistan




Cluestion No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) =
iz [ are more suitable techiiquels) for a developer to use i order to construct the actual code of a software. =

Answer | Please select your correct option )

I

Pzeudo code

Flow chart

Algorthm

Heurstics

https://genrica.com https://youtube.com/c/VirtualUniversityPakistan




Cluestion No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) =

A deweloper analyses the user's requirements, petforms fiwther mvestigation, and produces unambiguous spectications i step. =

Answer | Please select your correct option )

Planning
P

Tzers Eequirements

Designing

Developer Spectfications

https://genrica.com https://youtube.com/c/VirtualUniversityPakistan




Cluestion No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) =

THIVAC contaned vacuun tubes and was able to process mstructions per secotd. =

Answer | Please select your correct option )

5000, 5000
.

12000, 5000

5000, 2000

15000, 2000
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Cluestion No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) =

The mictroprocessors that do not have a separate unit to handle floating point data are =

Answer | Please select your correct option )

Mot able to handle floating point operations
2 vd
=lowrer than other mictoprocessors
.
Costly than other mucroprocessors
~
Mot invented yet
-
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Cluestion No : 18 of 26 Marks: 1 (Budgeted Time 1 Min) =

Ifthere are multiple programs running oty PC having windows 2P, then it refers to; =
Answer | Please select your correct option )
lults TTzer
I
=ingle Tser
rl

=mgle user, Multtasking
; \/

lult TTzer, Mulbprocessing
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Cluestion No : 19 of 26 Marks: 1 (Budgeted Time 1 Min) (=

Tou cannot close Microsoft Word 2003 by . =

Answer | Please select your correct option )

Choosing File metm then Exit command
P

Pressing Alt+F4

Clicking X button on title bar

Choosing Close submenu from File menu

: v~
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Cluestion No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) =

Tsch of the following is not a peripheral device for a computer? =

Answer | Please select your correct option )

USE
I

Printer

SCanner

Power Supply Ut

r
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Cluestion No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) =]

Tdentify an object and a tnethod i the following JavaScript staterment =
Window close()

Answer (| Please click here to Add Answer )

D@[@%&|%E§E|ﬂﬁ|ﬂ|%fﬂm 1T|Ej|1nn%v||

INl:nrmaI ;IIAriaI jlu j B 7 U HE

1
=
b2

[T
[

i
1"
4
1]
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Cuestion No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) =]

Is it possible to run an application i the private temaoty space of another application? =

Answer (| Please click here to Add Answer )

D@[@%&|%E§E|ﬂﬁ|ﬂ|%fﬂm 1T|Ej|1nn%v||

INl:nrmaI ;IIAriaI jlu j B 7 U HE
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Cluestion No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=

Howr can mteractive mode software be more attractive than the batch mode software? il

Answer (| Please click here to Add Answer )

D@[@%&|%E§E|ﬂﬁ|ﬂ|%fﬂm 1T|Ej|1nn%v||

INl:nrmaI ;IIAriaI jlu j B 7 U HE
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Cuestion No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=

List down any three benefits a software development team can get by performing proper and better testing on every stage of developiment. =

Answer (| Please click here to Add Answer )

D@[@%&|%E§E|ﬂﬁ|ﬂ|%fﬂm 1T|Ej|1nn%v||
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Cluestion No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =]

F .

FEyou are asked to petform analysis of an algotithim then explan which two paramneters will you consider the most inpotrtant to analyze the algorithm?

Answer (| Please click here to Add Answer )

D@E%E&|%%E|ﬂﬁ|ﬂ|%fﬂ Gl 1T|Ej|1nn%v||
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Question No : 26 of 26

IMarks: 5 (Budgeted Time 10 Min)

=

“When does "= sign behave as an “assightment operator” and as an “equal to” operator i Javascrpt? Give code example for each behawior,

F .

Answer (| Please click here to Add Answer )
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